Precalculus

Section 7.1&7.4 review

Find the partial fraction decomposition.
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Solve by substitution.
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Solve by elimination. Solve by graphing. _
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Conics review Date Period

Classify each conic section. (Circle, ellipse, parabola, hyperbola)

1) —9x% +16y* + 18x— 153 = 0 2) 457 +9y® + 8x— T2y + 112 =0
3) xX*+y? —8x+8y+31=0 4) 9x* +25y% +36x - 150y + 36 = 0
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Circle ellipse

5) —9x*+16y* - 64y - 80 =0 6) 25x* —163% +50x =375 =0
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9) x*+y? +6x+6y+9=0 10) —»* +x-10y-27=0

Cihwov e Dox o Dol

11) =2x* +y=0 12) 49x% +9y% —98x - 392 =0

Parabola e\\ipse

13) 16x* —9y® - 32x~ 18y — 137 =0 14) x* +4y* +32y+28 =0
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15) 2x* +2y% + 14x+ 6y +11=0 16) 2x* +2y% + 14x— 10y + 19 =0
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Classify each conic section and sketch its graph. Identify the Vertices, foci and eccentricty where it
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